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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

- YRt fewt T sl wron # ¥ 1 qdveneff S feran &
e foredt oft Tk 9T oh1 S S TRl § | (37T, a1 < fe=t
EICDEID)

Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T4 HISA/ TR F § W E | W T H =R T 3R 9
FHAE I T |

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Ihfeush '’ YRR 1§ FEeh T i 40 § qen
YT &1 AR YRR AT 7 SR 3T Fd 31 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.

U Ueh o SR, ATHAR IAE-Yfert R & g 91 §)
URT S ! ITR-FehT H W Teh & ST & 63 ST =Ted |

PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.

T ek o foTQ Afeehan S0 S Wes guet Hyiia =t T8
B T S T WG], WNT Tek i ST-YReaaht STHT
A o qYER o SO | qerty, FHeiRa w ue | 9
W Weh JU A aTet Treaelt 9T Ueh whi Soi-gfent fFteres
1 GO & A oS, W S BT STR-JFedehl of Tohd ¢ |

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.

e, Suftafa-ufierr W ewmeR forg fomm 3 e
A , TrivereR Rt GiY o, odter efet/ vt 8l B
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(@t 99l o I €/ Answer all the questions)

1.1

1.2

ol Uik U9 oh ST o ohg (aehed QU T
¥ T TR Suge faehow N oK =@
Y9 U oh AT SUeTel hild T ' SNTHIR
IR U |, 3AH feu U e o ST ER,
T H (1x10)
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the "OMR"

answer sheet supplied with the question
paper, following instructions therein.

T U O T
(A)
(B) TUESHEES HUS FIETT HIelhid
(C) USs-31H Y T Yierehicl
(D) USS-3AM HHS FET Yerehicl
AMOQP stands for :

(A) Advanced Mass Query Protocol

(B) Advanced Message
Protocol

(C©) Add-on Message Query Protocol
(D) Add-on Message Queuing Protocol

TSI A o YIerhidl

Queuing

3. SIS, o1 0l ®9 F T ?

(A) T S THaREHE

(B) 32T TA@THE TAAMETTHE
(C) 3 Y TR

(D) sRed

What does IDE stand for ?

(A) In Deep Environment

(B) Integrated Development Environment
(C) Internal Deep Escape
(D) IDLE

1.3

1.4

1.5

FF G TH A/ AR wied oI T
TIT?

(A)  FHAIRF-SHE! Ykl

(B) VaTe fHiAT &) e §

(C) T T=iicil arehell o faq Tmeq

(D) sfaveEt

Which is not a characteristic of TCP/IP
Model ?

(A) Connection-oriented protocol.

B) Implements flow control

(
(C) Support for a flexible architecture
(D) Unreliable

frafafed 4 @ %9 @ =i fod =fm %
SAfIE fIhE W 79 S et © 2

(A) WfRe IR AEfaes s

(B) @ed 3R IR T9-

(C) &= =1 41 AR fan

(D) Wi quff

Which of the following things can have
an effect on the development of an
individual’s personality ?

(A) physical and mental capabilities

B) health and physical appearance

(
(C) skin color and gender
(D) all of the above

7Ifg 3TMYeh] UTIehd! o1 19 T&i OaT &, o 9
T I FY &g H4T ?

(A) wIH

(B) 3ATUhT

(C) v

(D) TIRYE® STTIHI

If you didn't know the recipient's name,
how would you close the letter ?

(A) With love.

B)  Yours sincerely.

(
(C) Yours faithfully.
(D) Affectionately yours.
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1.6 TEEICd €9 9 AR & o @ T3N3 ¥ | 1.9 TR.3ALE. § |t Iuahonl =l Sired & o
T[S STRTT ot I HEAT | 3H Hel 1§ forg ereniel =1 S9N fehan ST © 2
(A) de T 4 (B2B)

A) 2T/ st
(B) HSIH 2 wefi9 (M2M) ) /
(C) TR (B) Hedsh
(D) 3 KIS
The huge number of devices connected to © %
the IoT to communicate automatically. It
is called : (D) =M

(A) Bot to Bot (B2B)
B) Machine to Machine (M2M)

Which protocol is used to link all the
( P
(C) Skynet
(

devices in the IoT ?

D) InterCloud (A) TCP/IP
1.7 3TE.3.E. Hran yeeA § e € (B) Network

(A) TIERRIA ST (C) UDP

(B) WA 3R I HeIA ©) HTTP

(C) BTSSR o T1el Gead

(D) S HUBW

IoT security management includes : 1.10 St ot YFed e 9 T

(A) Protocol abstraction 3

(B) Simple and fast installation

(C) Security with hardware (A) IETF 6LoWPAN
(D) Data storage

(B) IEFT CoAP

1.8 STE.31.31 S Thafarael § (C) RFID/NEC

NIEES

(A) R ST (D) =

(B) T ST IS HeoH ,
__________ supports low energy radio

(C) TTSoTR o T GI&l operation.

(D) <= (A) IETF 6LoWPAN

IoT data scalability includes

(A) Protocol abstraction (B) IEFT CoAP
(B) Simple and fast installation
(C) Security with hardware

(D) Data storage (D)

(C) RFID/NFC

Bluetooth
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

=t feu 7T eieR farawoT o  |ét & steran
AT | Teh ToId SUIeR faehed 94 3T 39
Y9 U ok ET SUCTSR] Sl T eI’
IO% Uek o, 3OH feu mu fEe & erEr
T H | (1x10)

.99, 21,31 T IR TR Werhd ¢ |

A TE. 3R €1, Teh aae Har fofy &1

qIEshieheloR h1 ITANT TE fife | TheR™ &l

frafaa s o fau foean smar ® 1

Sfe =e o 7HR) 2 8

AT TSHT ATSshIsheIoR T ITAN LT & |

AFEA JuAsh § Juust HAfwfat 2 T

Geres G oito o Wehe 1 Tuedd Fdl ¥

ATES shre Sren | foran S gehdr §1

g amseye fearq T

2.10 et 3TE. 3.3, SUF0T wgd Gferd T

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the
“OMR”answer sheet supplied with the
question paper, following instructions
therein. (1x10)

MQTT is a transport layer protocol.

RFID is a wired communication method.

Microcontroller is used to control the
function in smart Fridge.

Arduino board does not have memory.

Arduino uses AtMega microcontroller.

Arduino Uno has USB connectivity.

Embedded C language supports loop
statements.

Arduino code can be written in JAVA.

Sensors are the output device.

2.10 All IoT devices are very secure.
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3. Rt X ¥ feu U wisdl oiR arernt <kt fae, wiem Y ® fau T frenean wwifia et/ vredly
Rl | w1 IR faehen o o o |y fqU T ¢ sfimHe Tt ST ek H, 3eH fqu T

T T UTETT A EY, T AN (1x10)
X Y
31 [$eye (A) [TFER
3.2 |aEwE (B) |t oivaet s
3.3 |wH.¥.-135 (C) [H =med #9RT ®
34 |taH el feva (D) [ stiafier BHR &
3.5 |HEsHh Heer (E) |STehull & |19 eiae hidl &
3.6 |TEeh! TRER (F) |[STeimTehal o et ge¥ae a1 §
3.7 |stfE (G) |wq.st.3 .31 <O’y
3.8 |=faea frafon (H) [dw
3.9 |sifder =X (1) [o=E ¥=r ¥ W
3.10 [Tef¥heH TRR () |FFReTE HoR ¥ 9g
(K) |=7.0H.376. Hisd
(L) |oIFS @ Jomett
(M) [
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3.  Match words and phrases in column X with the closest related meaning/word(s)/phrase(s)
in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10)
X Y
3.1 |Ethernet (A) |Actuator
3.2 |WiFi (B) |C Language code
3.3 |MQ-135 (C) |Has external memory
3.4 |LCD Display (D) |Has internal memory
3.5 |Microcontroller (E) |Interacts with devices
3.6 |Microprocessor (F) |Interacts with user
3.7 |Arduino (G) [MBTI Theory
3.8 |Determine Personality (H) |Sensor
3.9 |Physical Layer (I) |Used in Wired communication
3.10 |Application Layer )] Used in V\./ire%ess
Communication
(K) [OSI Model
(L) |Closed Loop System
(M) |Hygrometer
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4. i YIS e |, € TE G 9 Teh I16E 9T a1 ohi fore o o e 2o §1 Hel Suser
fashea T 3R 30 U9T U & W1y fgU U ‘U’ ST Uk W, EH QU M VI o

ITEN, T | (1x10)
(A) [Z.2. (B) [FTRM-3HEl | (C) |FESHRER
(D) [HEsHEHIER (E) [fefsea (F) [AETarE.
(G) [T (H) [guast (1) [FrRE-a"
(J) [T o (K) [3=9 oo f= (L) [qro=m
(M) |eT.TH.3TE.
41 AEH _ TH Usied dEER Hiedd & Y|
42 _  Uw GifEd U ¥ S AT iR Syl 3 o HeR S STl o S
43 TASAM Th "W T
44 THRAMHHR _ H YA HA S|
45 AR fefeafradFdea 39 & ¥ad £
4.6 HfdHFTRTH__ TR T
47 AT IS H s sumi HFemwfar _ Far R
4.8 ;;T%‘—h e RWEH H I foga il fefSea fama § aga & forg foran sman
|
49 wATH YRR gW 9EfEa §
4.10 N.TH.3IME. Aisd, IS TR, oA &1
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option, enter your choice in the “OMR” answer

sheet supplied with the question paper, following instructions therein.

(1x10)

(A) [UDP (B) co.nnection- (C) |Microprocessor
oriented

(D) |Microcontroller | (E) |Digital (F) |USART

(G) |Analog (H) [Uno (I) |connection-less

(J) [light intensity (K) [High and Low (L) [temperature

(M) |OSI
4.1 Arduino with an integrated WiFi module.
4.2 is a serial port allows communication between Arduino and computer.
4.3 LDRisa sensor.
4.4 DPersonal computers use

4.5

4.6

4.7

4.8

4.9

Digital pins of Arduino can have only

Physical layer is a

Arduino board has a

ADC on Arduino board is used to convert

CoAP is supported by

layer.

values.

to control other devices.

protocol.

4.10 OSI model, the transport layer, is only

signal into digital signal.
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T & / PART TWO
(Tor=&l o 99+l o SRS /
Answer any FOUR Questions)

.30, % fafeen =atw #1 =wen
Lol

ST SNA. i uie fodmand s |
Explain the building block of IoT.

State five characteristics of IoT.
(8+7)

T & § ®R& 8 o TF 99 IS
SYHIUN /TR & o e ol grtaa
F T ?

IR T AGE 3R, 3.3, AR §
TR TR TFUR ot Yfeht 1 THMET |

What are the factors that affect the
battery life of devices/sensors
connected together ?

Explain the role of sensor and
actuator in an IOT environment with
the help of example. (8+7)

FAS [0 helel faeed & &/ 219 § 7
TP & TeS § THEA |

TS, 371,31, SUHION o T1e STINT ki ST
el Teh AT YrEnfirent, fSerst =t
HTITCHehdT hi ST Y |

What do mean by Close loop control
system ? Explain with the help of a

H QU FH * foae ww fEA g
fog : Hiftga Ay W °C § DHT
A (A 3R ST HHR) 1 ST
Yk IR AU 1 AT SR AR
TeRid &L

Fie fod arfer g fyse aromm sik
FAH AT F S FR FSed F
T |

Design a breadboard circuit and

write an Arduino program to
complete the tasks : Measure and
continuously display the ambient
temperature using DHT sensor
(temperature and humidity sensor)
in °C on the Serial Monitor.

Write the code so that the program
can display the difference between
the previous temperature and the

current temperature. (8+7)

3TE.30.31. ufigya o g Afaar @
€2

TETeRT % fere Sufeer 2 3 SR aret
ot foRat Agegul § 2

What are the main challenges in IoT
scenario ?

How important is body language

while appearing for an interview ?

diagram. (8+7)
-00o0-
(b) Explain the functionality of ZigBee,
a wireless technology used with IoT
devices. (8+7)
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